Algebra 1

Day Date Video Assignment Due Is it done?
19|Tuesday 4/14/2020 |8.9 348: 1-30 (notes in packet 2)
20|Wednesday |4/15/2020 352:1-20
21|Thursday 4/16/2020 practice quiz 8.6-9 (in packet 2 already)
22|Friday 4/17/2020 quiz (in packet 2 already)
23{Monday 4/20/2020 practice test chapter 8 (in packet 2 already)
24|Tuesday 4/21/2020 test
25|Wednesday [4/22/2020 |9.1
26|Thursday 4/23/2020 (9.2 372: 1-28 [NEED GRAPH PAPER]

27 |Friday 4/24/2020 (9.4 378: 1-20 (ignore directions) [GRAPH ALL}
28|Monday 4/27/2020 387 1-30 [GRAPH 19-22]
29| Tuesday 4/28/2020 practice quiz
30|Wednesday |4/29/2020
31|Thursday 4/30/2020 |9.5
32|Friday 5/1/2020 |9.6 394: 1-28 [GRAPH 17-24]
Monday 5/4/2020 399: 3-22

How many total did you do:

Zoom session happen Tues/Thurs at 2:00 for those needing any help




Name Test, Algebra 1, Chapter 8

State the restriction and simplify. (5)

5x°

1.

15x?

6x+12
2.

x* -4

3, ————
x2+7x+10

P |

x2+6x+5

x2 =25

x2=Tx+10



Multiply. (5)
2

o 6 ¥
’ 3
y 3

12x%2* 5%
20y°  3xz’

x1-25 x?-1
10. .

x+1 x*-6x+5




Divide. (5)
2

4y 8y’

x-2 x-2
X x+5

12.

x’-16 x-4
x+4 5

x’-4 2x+4
x-2 11




Find the Least Common Denominator. (3)
2 3

" Swx 15w’z

7 8
17 ——

x+1'x+2

1 2
18.

x!+6x+9°x*-9

Write equivalent expressions with the Least Common Denominator as the denominator. (2)
5 6

" 4x’y’ S5xy?

8 9

20. — ;
x“+3x-10"2-x



Add or subtract. (5)

5 7
2], —4+—
4x 4x
n 28
4-x 4-x
3 4
23, ——+
x+1 x+2
2 3
4, —
x-3 x*-9
7 3 1
25

: +—+—
12x*  3x 4x




Simplify each mixed expression. (3)

26. 3+§
X

27, 6x—J“2

28 BoERn,
4+l

Simplify each complex rational expression. (3)

11
..+_
Xy
2. 55
+.
Xy
5 5
_+_
Xy
30 1 1

+ —
3x 3y




Divide the polynomials. (5)
32. (3x* - 6x® —12x) + 3x*?

33. (16x°y* —12x%y* - 2xy) + 4x?y

34, (x* -6x+8)+(x—4)

35 (6x* - Tx+7)+ (2x - 3)

36. (3x* -18)+(x-2)




Express as a ratio in simplest form. (3)

37.30t0 12

38. 6 feet to 10 yards

39. 1.2cmto 36 mm

True or false? (2)

12 18
40 —=—
10 30
12 35
4l —=—
20 60
Solve, (4)
7 28
2 —==
10 «x
S _45
12 36
x+1 16
5 20
8 16
45. — =

x x+2




Solve. (5)

46.l+3=20
X x
47.l+£’£=2
4 6
8 2413
6x 4 8x
49 —x-—=6——5—
x+5 x+5
o 2x+4; 3x
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Name

L. What is this chapter about?

2 What are those?
3 What does an ordered pair look like?
4-8.

Draw a coordinate system.

9. What does a graph do?

10. What is standard form?

11-14. What two choices do you have to graph? How do those work?

15. What does slope measure?

16-8. What are three formulas for slope?

Algebra Quiz, Chapter 9 Vocabulary

|

L~
H fre
| gz
Lioew S
A [/LT:'—LLS
e M
4 .
*T\/"“;l
nA™l
6
A




M e
|

;
{3722 1-1L%
A!\/ E&L-—?‘\"T?-;w v ¢ TH ra VAMﬂ'"}lG-" A7 A
a (ST AcLi A Bl oy ScevTrea~s A Can At
i DS C ey e At
_i
A *a = § {o.5) (i.%) (2.3) (3.2) (4.0) (¢,
(s, 95) any) —
A LimA E AT e 0y A~ o s P e
GAALH i) A (I (l):‘ fow A ¥, 3)
STAMIAL) Fe A ~
| M _A\x t F)’;) = C ((,,m-,-zet_j et )
To G AAf H
(n—rﬁ‘,-.i('.ér’"t') LF Ad Mivgne P TAdLE CTHEt e
[y
fet~a1 e P A C e 53 A X 3 Cey x2 T T
(o, ( ,0) A L
. | ONTLA VAL
IXr Ha S & 4oz 2x
% T 3.
c;y_za,,o 3_?;?3%l
v - s,(
9% Fxay
T w4
2*;: = ?3 = 24
Z7< 1 ‘;9 = 8
%= 2 e 3 w9 at-f
T 1o (1C~M«e 0,&cc:nu-)>




_ 37y tee
Sl H@FGU;G';S
- Stete  of A
CMAPK A Lines
_Aac C"(/ ~1)
€3,9)

A 131
P 3 o ~e
AN = \ -
£SE 45 TS
STERA-FES Q.-f_ A }C,_.,_’;;_.L
| _L- ;f"'_(.;?_ _ ‘T-?‘TAZ_.: N G?'l t .) C‘-{l Z ) J;L .
651 () (Z;—Z) - ¥
(e, G2y o W
C_?/"O G?fé) gﬁ v
THe v 61'3) Stete '
(3/"7) ‘9“‘(3
CZ( 0) (Z;S") Cetetncha o a=s
(O/f))_ (?, (L) no

B 7L(-30C



Name _ - Algebra Quiz, Chapter 9 Vocabulary

L. What is this chapter about? (s, pai— & rTion S
2. Whatarethose? CJgeaNe~ it & Gracd i1 A b et
3. What does an ordered pair look like? ( X = Couil) LmaTE ‘3 - Ce- ,:,Ja'z,va-;t.>

4-8. Draw a coordinate system.

4 -Axs

L
- ——— -
pﬁ-.‘og,\/ A
X =AW}
I —
— [}

9. What does a graph do? SHes AL ScbMemJ  off A~ B AT Lo A

) 0 R
10. What is standard form? A\.-c + (33 e -*HB; . T DS

11-14. What two choices do you have to graph? How do those work?

My 4 ranie Lo x: A g A~ 2ice 3 By A et LAl
MTBACLATS 1 P 2 PeveTT ey TH A (&AL L AT ef €2
15.  What does slope measure?

S TEEfA— €T ¢

16-8. What are three formulas for slope?

cﬁASE A\/A de‘ai
©p———— ——— e

(e AX Ke-%,



Name ~ ] Algebra 1, 9.1-4 Review

1-9. Plot the points on graph paper. The first number is the x coordinate and tells you how far to move right or left. The second
number is the y coordinate and teils you how far to move up or down, Label which point is which (with its letter) on the graph paper.

A(5,0) Ci0.4) E(2,3) G(-4,-5) I{-3,0)
B(-2,4) D(4,-5) F(0,-2) H(0,0)

Identify the intercepts. The intercepts are points where one coordinate or the other is Zero.

10. 3x+5y=30 Il -2x-3y=12

Make a table or find the intercepts. Then graph on graph paper. Use intercepts if the equation is in standard form and the numbers
with both x and y can go into the other number. If you can not use intercepts, make a table. The equation must be x= or y= Ifitis
not, you must make it be. Once you do, pick numbers for the other variable, Always pick 0 and two other numbers. If there is a
fraction, pick numbers that the bottom of the fraction can go into,

12, 5x +4y=20 13. x-3y=-10 14, y=4x 15. 4y =3x

16. 2y -3x=-14 17. x=2y+5 18. y=3x-1 19. 3x-4y=12

Graph the line on graph paper. x= lines are vertical, and y= lines are horizontal.
20. x=-2 2l. y=4 22, x=13 23, y=-1

Find the slope of a line through the points. Put the change in y over the change in x. Reduce if possible. Remember that two negaftives
make a positive when you divide. If you get 0 on the top, the answer is 0. If you get 0 on the bottom, there is no answer.
24. (L,4)and (5,8)

28. (5,0) and (9,4) 32. (9,6) and (3,6)

. (2,3) and (6,-7)

B
L

29. (6,9) and (0,-3) 33. (0,5) and (4,-9)

6. (-3,2)and (-3, 6) : 30. (-7.8yand (-1, 8) 34. (-1,4) and (-5, 8)

27, (-4,1) and (8,5) 3L (-8,7) and (2,1} 35. (-2,3)and (-2,7)

On graph paper, through the given point, draw a line with the given slope. First plot the point. Then use the slope to find another
point. The top of the slope tells you how much to move up, and the bottom tells you how much to move over.

36. (2,3) with slope 3/4 37. (-4,-5) with slope -1/5



Name : Algebra 1, 9.1-4 Quiz

1-9. Plot the points on graph paper (use the letters to label which is which)

A(-2,0) C(0,-5) E(-2,-3} G(4,5) 1{3,0p
B(2,-4) D(-1,5) F(0,4) H{0,0)

Identify the intercepts

10. 4x + 35y =20 11. -2x+ 3y =18

Graph on graph paper.

12, 5x+4y =12 : - 13. x+3y=5 14, y=-2x 15. -5y =3x

16. 7y=2x-14 [7. x=2y-5 18. y=-3x+3 19. 5x+4y =20
0. x=1 2l. y=-2 22, x=-3 23. y=4

Find the slope of a line through the points.

24. (1,4) and (4,8) 28. (5,0) and (-9,-4) 32. (9,6) and (3,6)

25. (2,-Tyand (5,-1) 29. (6,9) and (8,-2) 33. (4.5) and (4,-2)

26. (-3,12)and (-8, 6) oy 30, (-7,8)and (-1, 4)

27. (-4,1) and (-8,-7) 31 (-3,7yand (2,2)

On graph paper, through the given point, draw a line with the given slope.

M. (-2,-3) with slope 4/5 35. (4,5) with slope -2/3
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